ZEPHIT Oty X —[ES 2024128108
SH6ERE
EXE 48 5H 6 A 7R 8 A 94
& B EUR =2 (R) | EUNE (kg) |ER=#(R) | EUNE (kg) |EMR=E(R) | EURE (kg) |EIR=#(R) | EIUNE (kg) |EURAE(R) | BEUXE (kg) |EIR=# (=) | EUNE (kg)
H&E 63 9.18 23 6.56 45 9.22 3 2.02 2 1 37 6.2
AV ARV
Las 65 13.72 65 135 51 9.52 58 6.92 127 10.22 148 19.29
ErZ ) 7 2.9 44 49.36 41 37.9 46 9.76 13 4.66 29 9.27
BELT o 0 0.58 29 3.78 0 1 0.18 1 1.06 8 0.92
B 3 1.62 18 5.52 2.24 7 2.06 4 1.68 13 8.46
BElE N 58 20.26 34 7.04 36 3.53 25 3.18 20 125 45 7.69
BETF 284 40.86 381 48.56 279 35.82 324 36.28 386 51.78 314 38.1
Z D 15 30.36 21 39.74 10 3.19 5 11.16 0 0 21 48.88
B 495 119.48 615 174.06 471 101.42 469 71.56 553 82.9 615 138.81
A A 20 31 20 21 16 35
EIXE 10A 11A 12A 1A 2B 38 B
SE | ERARGN)| ERE k) |ERE(R)| EIRE (k) |ERAKGR) | ERE (ke |EHR(R)| EIRE (ke) |ERARKGR)| EHE (kg) |ER2(R)| EIRE (k) |EAKGR)| ERE (ke)
it 37 6.2 23 5.6 233 45.98
AV ARV
148 19.29 125 36.68 787 129.14
B
=27 29 9.27 42 13.06 251 136.18
WELT 8 0.92 2 0.8 49 8.24
Bl 13 8.46 29 5.48 96 35.52
BELE S 45 7.69 32 15.82 295 77.71
BEF 314 38.1 373 55.9 2,655 345.40
Z D 21 48.88 16 2.62 109 184.83
= 615 138.81 642 135.96 0 0 0 0 0 0 0 0 4,475 963
A A 35 18 196




A4 =3 —H F=7 U FEAEEED 2024%12A10H
SHM6EE
[EiXE 4 A 5A4 6 A 7H 8 A 9A
am H BN S () | ERE (kg) |ERRE(R) | BEUXE (kg) [EUR=#E(R) | EURE (kg) |EUR=E (=) | EUNE (kg) [EUR=#(R) | BEURE (k) [EUR=% (=) | EURE (kg)
i 14 2.44 22 4.62 4 1.18 33 7.06 10 1.7 17 3.36
L REY
as 32 5.1 24 3.46 25 3.28 12 3.16 21 2.92 25 5.66
Er&7)| 26 7.48 9 3.92 8 1.9 7 1.84 9 2.28 12 4.8
FELF i 5 0.6 4 0.54 35 0.41 0.28 8 0.44 1 0.14
B 5 1.82 5 1.06 3 0.7 1.56 24 5.42 21 11.86
TR 41 14.46 4.28 16 3.24 0.56 6 1.72 13 3.56
BEF 21 2.1 25 2 5 0.8 16 1.3 19 0.56 15 1.66
Z Dt 0 0 0 0 0 0 0 0 0 0 0
= 144 34 98 19.88 96 11.51 76 15.76 97 15.04 104 31.04
BN E 10A 11A 12A8 1A 2A 3R =
an B EUR 3 (R) | [EUNE (kg) |EURA#(H) | EURE (kg) |EURSE(R) | EUE (kg) [EURS#(R) | EUNE (kg) |EURR#(S) | EURE (kg) [EURSEK(R) | EUE (kg) [EUR=#(R) | EUNE (kg)
i 5 0.46 9 1.98 114 22.80
AV ARy
16 1.6 9 1.36 164 26.54
B
Er&7)| 18 3.38 3 0.88 92 26.48
=g 13 0.36 5 0.34 72 3.11
B 13 6.2 8 3.54 83 32.16
TR 0.76 17 2.1 108 30.68
BEF 0.66 13 1.86 123 10.94
Z Dt 0 0 0 0 0.00
= 77 13.42 64 12.06 0 0 0 0 0 0 0 0 756 152.71




A4 k=3 —H F—=/NEERINS 20244127108
SH6EE
EUXE 4 B 5H 6 B 7H 8 H 9H
mm B ER s () | BEUNE (kg) |EINSZR(R) | EUNE (kg) (B S (R) | EUNE (kg) [EUNSm2(=) | BEUNE (kg) |EINSAER(S) | EUNZE (kg) [EU &% (=) | EUXE (kg)
e 3 1 16 2.8 28 5.5 0 0 10 2 4 1
AV AR
9 2.2 10 1.3 8 1.3 4 0.8 22 2.9 30 3.4
b B
ErZy)| 2 0.7 27 5.3 11 2.4 3 2.5 12 3.2 0 0
RELT & 3 0.2 4 0.6 2 0.5 1 0.4 0 0 0
Bkt 30 7.7 2 1.9 0 0 0 0 3.3 4 1
AR 6 1.9 2 0.7 4 1 0 0 2.2 2 0.5
BETF 2 0.2 5 0.5 2 0.2 1 0.1 15 2 6 0.7
Z Dth 0 0 0 0 0 0 0 0 0 0 0
&t 55 13.9 66 13.1 55 10.9 9 3.8 69 15.6 46 6.6
B E 108 11R 12AR 18 2 B 3R =
mm B EUR =2 (=) | EUNE (kg) |EUa$(R) | EUNE (kg) [EUR=2 (=) | EUNE (kg) |EUa$(R) | EUNE (kg) [EUNa% (=) | EUXE (kg) |EU S (R) | EUNE (kg) [EUN= (=) | EIXE (kg)
HiE 1 0.5 0 0 62 12.80
A VARV
0 0 0 0 83 11.90
B
By 0 0 0 0 55 14.10
RELT G 0 0 0 0 10 1.70
Bkt 0 0 0 0 39 13.90
AR 0 0 0 0 21 6.30
BET 6 0.7 3 0.36 40 4,76
Z DAth 0 0 0 0 0 0.00
&t 7 1.2 3 0.36 0 0 0 0 0 0 0 0 310 65.46




IR ERERIN Y 20244128108
ST6EE
EUNE 4 B 58 6 A 7H 8 A 98 (EER23FC)
mA EU % (=) | [EUNE (kg) [EUX % (R) | EURE (kg) |EUNSE(R) | BUXE (kg) | A (=) | BEUNE (k) |EU %k (=) [ ENE (kg) (EUXa$k(R) | EUE (kg)
& 10 1.8 0 0
AV ARV
17 3.9 5 1.05
FEm
E2Y) 17 7.1 5 0.65
RELT T 3 0.35 0 0
Bkt 9 2.6 7 4.9
SRR 14 5.65 4 0.35
BPEF 20 1.8 0 0
ZDfth 3 0.85 0 0
&&t 0 0 0 0 93 24.05 0 0 0 0 21 6.95
EUNE 10R 118 128 18 2B 3B &&t
2E  |EREHGE) | EUNE (ke) B () | BURE (ke) [EUREH () | EURE (ke) [BURAB(R) | EURE (ke) |miRs() | EURE (ke) B2 (2) | EUNE (ke) |EIRS#(R) | EMRE (ke)
= 0 0 10 1.80
AV REY
17 2.29 39 1.24
P&
&) 11 5.19 33 12.94
RELT S 0.97 7 1.32
Bkl 3 2.26 19 9.76
RELRS 12 4.04 30 10.04
BPET 8 1.11 28 2.91
ZDfth 24 1.82 27 2.67
&5t 79 17.68 0 0 0 0 0 0 0 0 0 0 193 48.68




